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TELEVISION ENGINEERING
[Time : 3 hours

(Maximum marks : 100)

PART—A
Entrepreneurship, Energy conservation and Information Technology
(Maximum marks : 20)
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I Answer the following questions in one or two sentences :
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State the important functions of an entrepreneur.
What is meant by nominal partner?

List the important forms of ownership.

What is morphing ?

List out some of the common computer crimes.
Write the components of environment,

What is equitable use of resources ?

Define global warming.

What are the harmful effects of ozone layer depletion on human beings ?
(10x2=20)

PART—B
(Maximum marks : 80) i
(Answer any five full questions)

What is meant by interlaced scanning ? How it reduces flicker ? 8

Skeich a composite video signal waveform for atleast three successive lines

and indicate :

(i) Extreme white level (i) Pedestal height

(i) Blanking level (iv) Sync pulse level 8

Or
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(b)

Draw the cross sectional view of a ;-'1 ‘

(a)
(b)

(a)
(b)

Draw the elementary block diagram of a monochrome television transmitter
and explain each block.

What is vestigial sideband transmission 2 Why is it used for TV picture
signals ?

V camera tube and explain.

Explain the working of the following :

a5

(b)
(c)

Explain the following :

(a)
(b)

(a)
(b)

(a)
(b)

RO —
Vertical deflection system.
Horizontal deflection system.

VHF tuner

Requirements of video amplifier.

Oor
-
Explain the generation of EHT in a TV receiver.

Explain the working of a half wave dipole with reflector and director.

Explain the working of delta gun coﬁ[ur picture tube.
Explain the working of SMPS for TV receivers.

Ok

Explain the working of the PAL D decoder with block diagram
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